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7KLV�IRUP�LV�WR�EH�XVHG�WR�ILOH�D�IRUPDO�JULHYDQFH���$OO�VHFWLRQV�PXVW�EH�FRPSOHWHG�DQG�ZLOO�
VHUYH�DV�WKH�RIILFLDO�GRFXPHQW�WR�EHJLQ�WKH�JULHYDQFH�SURFHVV���3OHDVH�DQVZHU�DOO�TXHVWLRQV�
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,I�\RX�QHHG�PRUH�VSDFH��SOHDVH�DWWDFK�DQRWKHU�SDJH�WR�WKLV�IRUP��6XEPLW�WKLV�IRUP�WR�D�FKDSHURQH�DQG�WKH\�ZLOO�JLYH����� 
LW�WR�WKH�3DJHDQW�'LUHFWRU�DQG�1DWLRQDO�'LUHFWRU� 
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%DVLV�RI�WKH�FRPSODLQW�����������KDUDVVPHQW������������GLVFULPLQDWLRQ������������XQIDLU�DFWLRQ�YLRODWLRQ�RI�ULJKWV 
 
����'DWH�DQG�WLPH�RI�WKH�RFFXUUHQFH�DQG�ZKDW�ZDV�WKH�VSHFLILF�EHKDYLRU��FRQGLWLRQ�RU�YLRODWLRQ�RI�SROLF\�RU�
SURFHGXUH�WKDW�RFFXUUHG�ZKLFK�\RX�FRQVLGHU�GLVFULPLQDWLRQ��KDUDVVPHQW�RU�XQIDLU�YLRODWHG�\RXU�ULJKWV" 
 
 
 
 
 
 
 
 
 
����+RZ�KDYH�\RX�EHHQ�DGYHUVHO\�DIIHFWHG�E\�WKLV�VLWXDWLRQ" 
 
 
 
 
 
 
 
 
 
����:KDW�VSHFLILF�DFWLRQV�KDYH�\RX�WDNHQ�WR�WU\�WR�UHVROYH�WKH�LVVXH�V��DQG�ZKDW�KDV�EHHQ�WKH�RXWFRPH�RI�WKHVH�
HIIRUWV" 
 
 
 
 
 
 
 
 
 
����:KDW�VSHFLILF�UHPHG\�V��GR�\RX�UHTXHVW" 
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